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General Instructions:

1. This question paper contains 34 questions.

2. Marks are indicated against each question.

3. Answers should be brief and to the point.

4. Answers to the questions carrying 3 marks may be from 50 to 75 words.
5. Answers to the questions carrying 4 marks may be about 150 words.

6. Answers to the questions carrying 6 marks may be about 200 words.

7. Attempt all parts of the questions together.
8 An internal choice is available in Que 23,24,29,30,33
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Which is called Essence of Management
a) Leadership b) Supervision
c) Coordination d) Communication
go—2 fIcer @ yedar @ fgia & ST @Y Cre i (1)
Principle of Unity of Direction Improves of organization.
G0—3 QIS AIdTaRYT IfARe WAfddal & Fe & | T /6 (1)

Business Environment is a group of internal forces (True/False)

Y0—4 Al Uap fohar &l qR1 R 1 I e el & | (1)
gives a detailed explanation of how to complete an action.
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Which of the following is an example of Policy?

a) Increase in sales of readymade garments.
b) Increase sales by Rs. 2000 crore
C) Provide employment to 100 people

d) Not to provide credit to customers.
b0—6 Mfdd fHR wiitd | yduary e # v fed g1 98 wuF 9 # 9 foa ogaven | ddfdd

27 (1)
H— P ITHROT G- HRTOROT
- faeegex - QWG a4

Getting more authority helps in managerial development. This statement is related to

which of the following

a) Centralization b) Delegation
C) Decentralization d) None of the above
go—7 = # 9 fhe ded 4 9uie swen & Rigia &1 goid: urem fear S g | (1)
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In which of the following organization principle of scalar chain is completely following

a) Formal Organization b) Informal Organization
C) Divisional Structure d) None of the above
Yo—8 Wil UfhdT AIRY Bl B (1)
H— HUATRAT BT 7T A - AN & STGH AN Bl AFHT A
T— TedTd A T SRIFT T4
Recruitment process begins with
a) Demand of Employees b) Inviting people interested for job
C) Strike d) All of the above
U0—9 UdH MREd g UMk &R oF UR U HHARI DI BRI I 7T PRAT ... HEATT B | (1)
Disengagement of an employee from work upon attaining a certain age is
called
Y0—10 fRI=0T U&er Ufshar &r ... TR 91U ol 2 | (1)
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Controlling function brings the management cycle back to the
a) Organizing function b) Directing function
C) Planning Function d) None of the above
go—11 foi=or, s & e ofenm 1 e / 3red (1)

Controlling is blind without planning (True/False)

0—12 IfS PIg U HSR P HEIH W o BT Udh g 3 WA & a1 B a9 Sa1eT gq1fad siar 2|

If a large company holds a large amount of money through reserves then who is most
affected? (1)

H0—13 W&l fabey o | (1)

Affmerd (A) — FHAT @ o # 0T Mfdd SRIH WR_T 7 |

HR (R) — M &1 PTa MR el IR @l ol |J9ar gofl & Al § @aary & fog sifard
gl

aif@mer (A) 3k @wrer (R) 981 2 aftd &R (R) 8k e (A) &1 | T T8 2 |
MDA HE & TR BRI TeAd 8 |

Ao (A) 3R BRoT (R) W& & iR BT (R) ifirderd (A) &7 FE ST 2 |

Downloaded from cclchapter.com



e (A) 3R dRor (R) <91 |8 781 2 |

Choose the correct option:

Assertion (A): Debt is more risky as compared to equity.

Reason (R): Payment of Dividend and return of Principal amount is obligatory for the
Business in case of equity.

A) Assertion (A) and Reason (R) are correct but Reason (R) is not the correct
explanation of Assertion (A)

B) Assertion (A) is correct but Reason (R) is wrong.

C) Both Reason (R) and Assertion (A) are correct and Reason (R) is correct
explanation of Assertion (A)

D) Both Assertion (A) and Reason (R) are not correct

bo—14 UM & &= H Ahardt y & foy fEfamRil gRT s 5w arel Tifd 8- (1)
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is the policy adopted by manufacturers to get success in the field of marketing
a) Marketing Mix b) Product Mix
C) Promotional Mix d) Prince Mix

b0—15 fagor &) foosg SrgeRem # wrfiedr Ied W) & 7 fb Sare w? (1)

In which marketing concept is the priority on the customer and not on the product?

[0—16 el 3MANT & A H dre H ARl & REAqHT dw&n fhar 81 anfgy? (1)

F— 2 g 3 T— 4 - 1
In case of National Commission, what should be the number of women in Board?
A) 2 b) 3 c) 4 d) 1

............ S I HI IOTEdT B THIH € | (1)

is a certificate of quality of agricultural products.

go—18 for=foiRad & | @9 &1 IR AT dicaeT &1 SareRoT 8 87 (1)
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Which of the following is not an example of non-financial incentive?
a) Career Advancement Opportunity  b) Perquisites

c) Status d) Organizational Climate

b0—19 31Adwed (A) IR BT HHATRAT TR U7 ST AhT 2 | (1)
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Assertion (A): Motivation can be forced on employees
Reason (R): The internal feelings influences human behavior to act in a particular manner
Choose the correct option:

A) Assertion (A) is false but Reason (R) is true

B) Assertion (A) is true but Reason (R) is false

C) Assertion (A) and Reason (R) both are true

D) Assertion and Reason (R) both are false

T0—20 IUNIEIT Bl fagfd Icaral o1 Yol Jurar & ol eiedd oxadT a1fey | 6 /319 (1)

Consumer should look for Hallmark to check quality of electric products (True/False)

Y0—21 IS IS UR ATHINTG ardraRel & Rad=ii | 8 darel WTdl & o9 Se1exvl 4IvTe | (3)

Give any 3 reasons examples of the impact on Business organization due to the changes
in social environment.
Or

RIGATRISG IATRYT | JAHT F7 AT 27 s9@! fhal 2 faemdrel &1 aoid & | (3)

What do you mean by Business Environment? Explain any 2 characteristics of it.

Yo—22 fauo & a1 merg 2?7 fauve ot fhsi 2 faeryaneit &1 auf| & | (3)

What is meant by Marketing? Explain any 2 features of it.
Or
sirenfies ScuTe &7 31 SR SH®T 2 faRvdTel BT g A |

Describe the meaning and any 2 features of Industrial product

g0—23 fawr ara=fY foofy o wfere fewoft forRay | 3)

Write a short note on Investment Decisions

Yo—24 fadiia SIREw @1 27 I8 R IU &Il 7 | (3)

What is financial risk? Why does it arise?

Y0—25 <ok g gfurfed #MRie wif fOaReRT &1 9988y | (4)

Explain the concept of Mental Revolution given by Taylor
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Explain Scalar chain and Division of work as principles of Management 4
T0—26 JMABR MR IaRAIIT BT ARAT BT | (4)

Explain Authority and Responsibility in detail
Or
T Blg 4 g dam #§ we HIf Y S 76T # Ia<igexy & #8@ & <20id © |

Explain in brief any 4 points which highlight the Importance of Decentralization of

Organization.

G0—27 Wil BT &7 e 22 Wil & sl 3 qE<l Al Bl ARST BT | (4)

What is meant by Recruitment? Explain any 3 external sources of recruitment.
U0—28 GURIHE HTIATE! HRAT YGe & U BRI I Ufshar 7 Sifcd ==or 2 @)
H— B B A AN |
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Taking corrective action is the last step in the process of one of the function of

management
a) Name the Function

b) Explain the other steps of the above mentioned function
[0—29 AT U ¥ 319 @ |HSIA 2° A v & gifad dRe atel fgel 3 SR BT o @ |

What do you mean by Dividend Decision? Explain the different factors affecting

Dividend Decision.
Y0—30 TP SU9TaT & bl 4 SRR T ol &Y |
Explain any 4 responsibilities of a consumer

=
~

=
~

b0—31 Y&y U& fasi= 2| favar # a\snsy | (6)
Management is a Science. Explain in detail
OR
AT BT [l 4 fIRIwdmel &1 dferd o a7 |
Explain in brief any 4 characteristics of coordination
70—32 T SR HRIfAfT | 3musdr - Fffmm 87 Fifd iR srifafy § 3 4 3faR Id1=0 | (®)
What do you mean by Policy and procedures. State any 4 differences between Policy and
Procedures
aferar

Downloaded from cclchapter.com



S ufshar & gl 4 aRO BT o B |
Give any 4 steps of Planning process.
G0—33 f&H<l 6 TcH! BT qU BT Sl UH SR & Jod HI MEiRa dxd F99 &= H @+ @12y | (6)
Explain any 6 factors which should be considered while formulating product price.
T0—34 TIeToT P TR < 3R Gderor ol faal 4 faeryamet &1 aofq & | (6)
State the definition of supervision and explain in detail any 4 characteristics of

supervision.
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